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X[0] - X[1] - ... - X[N — 1] < 1,000
2 17 |1<N<1,000 |0<M<1,000 |none
X[i] > 2 1> 2 for ini
3 20 | 1<N<500,000 | 0< M < 100,000 | XLe] 22 andval > 2 for init and
updateX correspondingly
4 23 | 1< N<500,000 | 0<M<10,000 |none
5 23 | 1< N <500,000 | 0<M < 100,000 |none

lines 5, ..., M+ 4: three numbers type pos val (type=1 for updateX and type=2 for
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‘The sample grader reads the input from the file horses. in in the following format

line 1: N =
[lne 2: X[0] ...X[N - 1 m

[line 3: Y[O] ... Y[N - 1 =

line 4: M

.(updateY

The sample grader prints the return value of init followed by the return values of all calls to

.updateX and updateY
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